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P 4%
ASTREERUT RERE -

R1 R2
= o
Lkl S0/0 S0/1 70
Lo 10: FD10::/64 eui-64 Lo 10: FDO1::/64 eui-64

Lo 20: FD20::/64 eui-64 Lo 20: FD20::/64 eui-64

EANEE
AXHEERUTERE :
- B2 R
- B8 R2
- B8R R3
LUTHSIUE R 7 Cisco |0S BRHzR IPv6 SRR At it M /2Bt 2 MV EEXF -
« TR IPV6 S5 BRI ith ith 1k

B 2R R1

<tfroot>

hostname R1
|

ipv6 cef
|

ipv6 unicast-routing
|

interface Loopbackl0
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no ip address

i pv6 address FD10::/64 eui-64

!--- Assigned a IPv6 unicast address in EUI-64 format.

ipv6e ospf 1 area 1

I--- Enables OSPFv3 on the interface and associates the interface loobackl0 to area 1.

interface Loopback20
no ip address

i pv6 address FD20::/64 eui-64
i pv6 ospf 1 area 2

!I--- Associates the Interface loopback20 to area 2.

interface Serial0/0
no ip address

i pv6 address 2001::1/124
ipve ospf 1 area O

!I--- Associates the Interface serial0/0 to area 0.
clock rate 2000000

ipv6 router ospf 1
router-id 10.1.1.1

I--- Router R1 uses 10.1.1.1 as router 1id.

Tog-adjacency-changes
!

end
s R2 B HE R3
<#root> <#root>
hostname R2 hostname R3
! !
ipv6 cef ipv6 cef
! !
ipv6 unicast-routing ipv6 unicast-routing
! !
! !
! !
interface Serial0/0 interface Loopbackl0
no ip address no ip address




i pv6 address 2001::2/124 i pv6 address FDOl::/64 eui-64
i pv6 ospf 1 area O i pv6 ospf 1 area 1

clock rate 2000000 !
! !
! interface Loopback20
interface SerialO/1 no ip address

no ip address ) ]
i pv6 address FD20::/64 eui-64

i pv6 address 2002::1/124 i pv6 ospf 1 area 2
i pv6 ospf 1 area O
!

clock rate 2000000 !
! interface Serial0/0

! no ip address
!
ipv6 router ospf 1 i pv6 address FE80:: AB8 |ink-Ioca
router-id 10.2.2.2 i pv6 address 2002::2/124

log-adjacency-changes i pv6 ospf 1 area 0
!

clock rate 2000000

end |

!
!
ipv6 router ospf 1
router-id 10.3.3.3
log-adjacency-changes
!
end

::A0N
I UF OSPF ElE

ERIIRAECIEREE OSPF , i57E showipverouteospf D o

show ipv6 route ospf

B EH 2R R1

<#root>
R1#
show i pv6 route ospf

IPv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R - RIP, B - BGP
U - Per-user Static route, M - MIPv6
I1 - ISIS L1, I2 - ISIS L2, IA - ISIS 1interarea, IS - ISIS summary
0 - OSPF 1intra, OI - OSPF inter, OE1l - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - EIGRP external
OI FDO1::C002:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEEO:0, Serial0/0
0 2002::/124 [110/128]
via FE80::C001:1DFF:FEEO:0, Serial0/0
OI FD20::C002:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEEO:0, Serial0/0




B2 R3

<#root>
R3#
show i pv6 route ospf

IPv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R - RIP, B - BGP
U - Per-user Static route, M - MIPvb6
I1 - ISIS L1, I2 - ISIS L2, IA - ISIS 1interarea, IS - ISIS summary
0 - OSPF intra, OI - OSPF inter, OE1l - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - EIGRP external
0 2001::/124 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
OI FD10::C000:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0
OI FD20::C000:1DFF:FEE0:0/128 [110/128]
via FE80::C001:1DFF:FEE0:0, Serial0/0

06 UIF 55 2% 2 3t 3t 31t B 5 [R) t4

ZHRHBUUERAEREBHUMNEE ping B, MREHB[IAFEHAERA b | NS EM LT LB
., flmn , RIATAER SR/ EEMttping R3 , EAARBEEILEEA R R buEE., X8
S EAHEF R1 # R3 H{# A ping # debug ipv6 icmp % B R H K,

MITFE P 48 33 55 B8 A #h 3t 1 1 1T ping 1R 4E

LR AR A6 A AN b 8 3R i it S ER AR BRR3BSRT |, BRARRIZEEICMPERIER | IEH A
SRR RAMIFER | TEREEEMSE 2SR 8EEE 1 1t =

MEEHES R1 X R3 BY4EEE At b uE 4T ping R 1E

AR R1 5

<#root>

R1#

pi ng FE8O: : AB8
Output Interface:
serial 0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C000:1DFF:FEEQO:0

Success rate is 0 percent (0/5)

!I--- Pinging Link-Local Address of router R3.
!I--- The ping is unsuccessful and the ICMP packet cannot reach the destination through serial0/0.
I--- This timeout indicates that R1 has not received any replies from the router R3.




MIE T ) 45 3 6 355 2 3 b 3E AT ping R 4F

XN TFERHEEER2 , MHEFMRIFNRIEZEE , Yl 5EZIKANNMEXEZEOESN , el
ping#% B 2ER1 MIR2KY A sy S5 R 31t . 40 L B0 FPTOR

MEEEIEE R2 Xt R1 FYSEER A b b 5k 4T ping R4E

ER MBI R2F

<#troot>
R2#

pi ng

FE80: : C000: 1DFF: FEEO: O
Output Interface:
serial0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::C000:1DFF:FEEQ0:0, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEEO:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/19/56 ms

!I--- Pinging Link-Local Address of router R1, R2 connects to R1 via serial0/0.

R1 BV A i

R1#

*Mar 1 03:59:53.367: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0

*Mar 1 03:59:53.371: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO:0

*Mar 1 03:59:53.423: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0

*Mar 1 03:59:53.427: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO:0

*Mar 1 03:59:53.463: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0

*Mar 1 03:59:53.463: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 03:59:53.467: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0

*Mar 1 03:59:53.467: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEO:0

*Mar 1 03:59:53.471: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0

*Mar 1 03:59:53.471: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEQ:0

!--- The debug output shows that the router R2 can ping router R1's Link-Local address.
MERHER R2 X R3 B8 RE 25 3 3ty 1T ping R 4E

R AR R2

<#root>

R2#

pi ng

FE8O0: : AB8




serial0/1

Output Interface:

R3 HY i i i
R3#

*Mar 1 04:12:11.
*Mar 1 04:12:11
*Mar 1 04:12:11.
*Mar 1 04:12:11.
*Mar 1 04:12:11
*Mar 1 04:12:11.
*Mar 1 04:12:11.
*Mar 1 04:12:11
*Mar 1 04:12:11.
*Mar 1 04:12:11.

518:
.522:
594:
598:
.618:
618:
622:
.622:
626:
630:

ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEEQ:0

Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to

from

FE8O:

from

FE8O:

from

FE8O:

from

FE8O:

from
FE80

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/18/60

!I--- Note that, to ping the Link-Local address, output interface is

FE80::C001:

:C001:

1DFF:

FE80::C001:

:C001:

1DFF:

FE80::C001:

:C001:

1DFF:

FE80::C001:

:C001:

1DFF:

FE80::C001:

::C001:

!--- The debug output shows that the router R2 can ping router

1DFF:

R3's

ms

needed. In our case, R2 connects to

1DFF:FEEQ:0
FEEO:0
1DFF:FEEQ:0
FEEO:0
1DFF:FEEQ:0
FEEO:0
1DFF:FEEO:0
FEEO:0
1DFF:FEEO:0
FEEO:0

Link-Local address.

SRR A bt RAER T NM A Mg, SHEERTUAEREENERA I | HBEEME
KRALMEBRE , MAREEMTR, WREAERERBBI  WIEARA—HT, THRENE

[ 5 5% st 1k 7E P 4% A AR ME—BY . show ipv6 interface brief

O A H

RAXEO LR At 888 b 31t

AP T3 M2
E"J{E/%\O
show ipv6 interface brief
R HER R1
<#root>
R1#

Serial0/0

FE8O: : AB8

2001::1
Loopback10
FE80: :C000: 1DFF:
FD10: :C000: 1DFF:
Loopback20
FE80: :C000: 1DFF:
FD20: :C000: 1DFF:

R R3

show i pv6 interface

brief

Lup/up]

Lup/up]

FEEO:0
FEEO:0

Lup/up]

FEEO:0
FEEO:0



https://www.cisco.com/c/en/us/td/docs/ios/ipv6/command/reference/ipv6_book/ipv6_14.html#wp2373271

<tfroot>
R3#

show i pv6 interface brief

Serial0/0 [up/up]
FE80: : AB8

2002::2
Loopback10 Cup/up]

FE80: :C002:1DFF:FEEO:0
FDO1::C002:1DFF:FEEO:0
Loopback20 [up/up]
FE80: :C002:1DFF:FEEO:0
FD20::C002:1DFF:FEEO:0

I--- Shows that R1 and R3's serial interface has same Link-Local address FE80::ABS.

EAHIR , RIMR3WOE T HEMN AR, HEMNEEMXELEQN  R2OAEERA
BRE 2R o

M R2 3t R1 #1 R3 BV 85 B8 A< b i 1k 3017 ping R4E
M R2 3t R1 B8RS A b it it $h 4T ping R1E

<#troot>

R2#
pi ng FE8O: : AB8
Output Interface:

serial0/0

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:
Packet sent with a source address of FE80::C001:1DFF:FEE0:0

Success rate is 100 percent (5/5), round-trip min/avg/max = 0/26/92 ms

!I--- R2 is connected to R1 through serial0/0.

R1 BV A i

R1#

*Mar 1 19:51:31.855: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:51:31.859: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:51:31.915: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0
*Mar 1 19:51:31.919: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:51:31.947: ICMPv6: Received echo request from FE80::C001:1DFF:FEEO0:0
*Mar 1 19:51:31.947: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEEQ:0

*Mar 1 19:51:31.955: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:51:31.955: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0

*Mar 1 19:51:31.955: ICMPv6: Received echo request from FE80::C001:1DFF:FEEOQ:0
*Mar 1 19:51:31.955: ICMPv6: Sending echo reply to FE80::C001:1DFF:FEE0:0




R2#

Success rate is 100 percent (5/5),

serial0/1

Sending 5,
Packet sent with a source address of FE80::C001:1DFF:FEEO:0

pi ng FE8O: : AB8

Output Interface:

Type escape sequence to abort.

M R2 3§ R3 HUEERE AN #th 3 31E 11T ping B4E

<ffroot>

100-byte ICMP Echos to FE80::AB8, timeout is 2 seconds:

R3 HY i
R3#

*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.
*Mar 1 19:53:38.

815:
819:
911:
915:
923:
927:
955:
955:
963:
963:

ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:
ICMPv6:

!I--- R2 is connected to R1 through serial0/1.

Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to
Received echo request
Sending echo reply to

round-trip min/avg/max

from

FE8O:

from

FE8O:

from

FE8O:

from

FE8O:

from

FE8O:

= 4/28/76

FE8O0:

:C001:

FE8O0:

FE8O0:

:C001:

FE8O0:

:C001:

FE8O0:

:C001:
1DFF:
:C001:
:C001:
:C001:
1DFF:
:C001:
1DFF:
:C001:
:C001:

1DFF

1DFF

:FEEO:0

:FEEO:0

ms

1DFF:FEEO:0
FEEO:0
1DFF:FEEO:0

1DFF:FEEO:0
FEEO:0
1DFF:FEEO:0
FEEO:0
1DFF:FEEO:0
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